
 MODEL QUESTION PAPER 
SET –I           

Entrepreneurship ¼m|ferk½¼m|ferk½¼m|ferk½¼m|ferk½  
 

(Class XIIth)
 

Full Marks 70      
 

   [k.M&v [k.M&v [k.M&v [k.M&v (Group A)  

 cgqfodYih; iz’u cgqfodYih; iz’u cgqfodYih; iz’u cgqfodYih; iz’u  Multiple choice type questions :-                           1×10=10 
 

 

1- IFCI LFkkfir dh xbZ o"kZ IFCI was established in the year.   

 (A) 1939          (B) 1948               (C) 1950        (D) 1956   

2- yscfyax gS& Labelling is :       

 (A) vfuok;Z  Compulsory           (B) vko’;d Necessary 
(C) ,sfPNd Voluntary                    (D) cckZnh  Wastage    

 

3- miØe dk pquko fuHkZj djrk gS& Selection of an enterprise depends on :     

 (A) ,dkdh O;kikj ij Sole Trading     
(B) lkglh dh ;ksX;rk ij Ability of entrepreneur  
(C) lkglh dh vf/kdkj ij Right of entrepreneur      
(D) buesa ls dksbZ ugha None of these    

 

4- O;olk; dk  \   O;olk; ds :i dks Hkh fu/kkZfjr djrk gSA   
The   ?  of business also determines the form of organisation.     

 

 (A) vkdkj  Size                         (B) LFkku Location  
(C) v/;;u Study                      (D) buesa ls dksbZ ugha  None of these   

 

5- vkfFkZd lgk;rk gS&  Subsidy is -      

 (A) fj;k;r  Concession                (B) cV~Vk Discount  
(C) iqu% Hkqxrku Re-payment        (D) buesa ls dksbZ ugha  None of these   

 

6- fu;kstu gksrk gS&  Planning is for -         

 (A) Hkwrdky ds fy,  Past            (B) Hkfo"; ds fy, Future 
(C) orZeku ds fy, Present           (D) fdlh ds fy, ugha None of these   

 

7- pkyw nkf;Ro gS&  Current liability is -    

 (A) _.k Loan            (B) QuhZpj Furniture  
(C) va’k iw¡th Share Capital          (D) ysunkj Creditors    

 

8- m|e iw¡th esa jgrk gS& Venture capital contains -     

 (A) mPp tksf[ke  High risk            (B) lkgfld tksf[ke Venture risk 
(C) dksbZ tksf[ke ugha No risk       (D) buesa ls dksbZ ugha  None of these   

 

9- izcU/k dyk gS& Management is an art of -       

 (A) Lo;a dke djus dh Doing work himself                      

(B) nwljs ls dke ysus dh Taking work from others  

(C) Lo;a dke djus dh ,oa nwljs ls dke ysus dh Both doing work 

himself and taking work 

(D) buesa ls dksbZ ugha  None of these      

 



10- ewY; uhfr gksrh gS& Price policy is -      

 (A) miHkksDrk ds i{k esa In favour of consumer       
(B) ljdkj ds i{k esa In favour of Government                    

(C) fuekZrkvksa ds i+{k esa In favour of producers           

(D) lHkh ds i{k esa  In favour of all     

 

   

 [k.M&c[k.M&c[k.M&c[k.M&c    (Group B)  

 Yk?kq mÙkjh; iz’u Yk?kq mÙkjh; iz’u Yk?kq mÙkjh; iz’u Yk?kq mÙkjh; iz’u  Short Answer Type questions :-                                4×8=32 
 

 

11- foÙk dh ifjHkk"kk nhft,A Define Finance.      

12- ,d m|eh lekt dks D;k nsrk gS\ 
What is provided by an entrepreneur to the society ?        

 

13- iw¡th xgu izkS|ksfxdh D;k gS\ 
What is capital intensive technique ?  

 

14- ykxr dk D;k vFkZ gS\ What is the meaning of Cost ?   

15- foi.ku feJ.k D;k gS\ What is marketing mix ?    

16- i;kZoj.k ds eq[; fdrus izdkj gSa\  

What are the main kinds of environement ?  

 

17- le&foPNsn fo’ys"k.k D;ksa vko’;d gS\  
Why is break-even analysis essential ?     

 

18- iz’kklu ls D;k vk’k; gS\ What is meant by Administration ?        

   

 [k.M&l[k.M&l[k.M&l[k.M&l    (Group C)  

 nh?kZ mÙkjh; iz’u nh?kZ mÙkjh; iz’u nh?kZ mÙkjh; iz’u nh?kZ mÙkjh; iz’u  Long  Answer Type questions :-                               7×4=28 
 

 

19- ifj;kstuk dk vFkZ ,oa vo/kkj.kk dk o.kZu djsaA  

Explain the meaning and concept of project.  

 

20- O;olk; esa foKkiu ds egRo dks crk,¡A  
Discuss the importance of advertisement in business.     

 

21- LFkk;h iw¡th ,oa dk;Z’khy iw¡th esa vUrj dhft,A  

Distinguish between fixed capital and working capital.      

 

22- lQy m|eh dh fo’ks"krkvksa dk mYys[k djsaA   

Mention the characteristics of successful entrepreneur.     

 

 


